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eigenvector 3

 R² = 0.09

−10 −5 0 5

−5
0

5
10

+

+

+

++

+

+
+

++

++
+

+

+

+ +

+
+

+

+

+

+

+

+

+

+

+

+

+

+
+

++

+

+
++ +

+

+
+ +

+

xxxxxxxxxxx
*

o

−10 0 5 10 15

+

+

+

++

+

+
+

++

++
+

+

+

+ +

+
+

+

+

+

+

+

+

+

+

+

+

+

+
+

++

+

+
++ +

+

+
+ +

+

xxxxxxxxxxx
*

o

−10 −5 0 5 10

+

+

+

++

+

+
+

++

++
+

+

+

++

+
+

+

+

+

+

+

+

+

+

+

+

+

+
+

++

+

+
+++

+

+
++

+

xxxxxxxxxxx
*

o

−5 0 5 10

−5
0

5
10

eigenvector 4

 R² = 0.08

Probabilistic PCA Missing Value Estimator

*
BC cells
BC Tissue
BN cells
BN Tissue

+

o
x


